	
	
	
	
	
	
	
	
	
	
	
	


                                                                        Roll No:

Sir Issac Newton College of Engineering and Technology-Nagapattinam
MODEL EXAM
Seventh Semester

Mechanical Engineering 
ME8793 PROCESS PLANNING AND COST ESTIMATION
Date:    01.12.2022                        
             




 Session    :  FN
Time:  9.30am to 12.30 am                                         



Maximum:  100 marks
Answer ALL Questions
PART - A (10 X 2 = 20 marks)
	Q.NO
	Questions
	Marks
	CO
	BL
	PO

	1
	What is route sheet?
	2
	CO1
	L1
	2

	2
	List the various approaches to process planning.
	2
	CO1
	L3
	2

	3
	What is meant by process capability?
	2
	CO2
	L3
	2

	4
	What is meant by break - even point?
	2
	CO2
	L2
	2

	5
	What do you understand by estimating?
	2
	CO3
	L4
	2

	6
	Describe the sources of errors in estimating.
	2
	CO3
	L1
	2

	7
	What is shrinkage allowance?
	2
	CO4
	L4
	2

	8
	What do you mean by shear loss in forging?
	2
	CO4
	L4
	4

	9
	Define the term cutting speed?
	2
	CO5
	L2
	4

	10
	Write short notes on tear down time.
	2
	CO5
	L1
	4


PART- B (5 X 15 = 65 marks)
	Q.NO
	Questions
	Marks
	CO
	BL
	PO

	11. 
	(a). Explain in detail the process planning activities.
	13
	CO1
	L2
	2

	
	Or
	
	
	
	

	
	(b). What are the procedures to be followed  for the machine selection?
	13
	CO1
	L3
	4

	12.
	(a). Compare and contrast between jigs and fixtures.
 
	13
	CO2
	L4
	2

	
	Or
	
	
	
	

	
	(b). i. What are control charts? What are the uses of them?

      ii. What do you understand by break even analysis? List its objectives.
	7+6
	CO2
	L4
	4

	13.
	(a). i. Discuss data requirements and sources for cost estimation.
	13
	CO3
	L3
	2

	
	Or
	
	
	
	

	
	(b). Briefly explain the distribution and allocation of overheads.
	13
	CO3
	L3
	2

	14.
	(a). A bar stock of 3 cm diameter and 2 m long is to be converted into (i) square bar 3 cm side (ii) hexagonal bar 3 cm side and (iii) rectangular bar of sides 3 cm X 2 cm. Calculate the length of bar made in each case. Assume hand forging and neglect losses.

	13
	CO4
	L3
	4

	
	Or
	
	
	
	

	
	(b). What are the allowances that need to be considered while making patterns in foundry shop.  Discuss. 

	13
	CO4
	L3
	4

	15.
	(a). Find the time required on the shaper to complete one cut on a plate 600 X 900mm. If the cutting speed is 6m/min. The return time to cutting time ratio is 1:4 and the feed is 2mm/stroke. The clearance at each and along the length is 75mm.

	13
	CO5
	L3
	2

	
	                                                Or
	
	
	
	

	
	(b). Estimate the time required for planning a surface of 900 X 300mm size. The cutting speed is 12m/min and feed is 1.2mm/stroke. Assume suitable tool clearances.
	13
	CO5
	L3
	4


PART- C (1 X 15 = 15 marks)

	Q.NO
	Questions
	Marks
	CO
	BL
	PO

	16. 
	(a). What do you understand by depreciation of a machine? Discuss the various causes of depreciation.
	15
	CO3
	L3
	2

	
	Or
	
	
	
	

	
	(b). What are the two distinct approaches used in material selection? Explain the basis steps involved with both the cases?
 
	15
	CO1
	L3
	4


	BT LEVEL
	CO1
	CO2
	CO3
	CO4
	CO5
	CO6
	% 

	Remember
	Q. Nos
	1
	
	6
	
	10
	
	3.33

	
	Marks
	2
	
	2
	
	2
	
	

	Understand
	Q. Nos
	11(A)
	4
	
	
	9
	
	9.44

	
	Marks
	13
	2
	
	
	2
	
	

	Applying
	Q. Nos
	2, 11(B)
	3
	13(A)13(B)

16(A)

16(B)
	14(A), 14(B)
	15(A)

15(B)
	
	69.44

	
	Marks
	15
	2
	56
	26
	26
	
	

	Analysing
	Q. Nos
	
	12(A),

12(B)
	5
	7,8
	
	
	17.77

	
	Marks
	
	26
	2
	4
	
	
	

	Total
	
	30
	30
	60
	30
	30
	100
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